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ECE 3055 Quiz - November 5, 2003

1-3. Determine the number of page faults that will occur in the follo
page frames are available. All frames are initially empty.

wing page reference string assuming 4

1, 2, 4, 3, 1, 2, 6, 5 2, 1, 2, 3 7, 5 8 2, 1, 2, 3, 6
_ Page Frames
Yy [ [T (e [c el 313 J 72T J2 JZ202 ]
P 22 122 [ ]sE 155l Y (V10 [ [ T
F - d e [t 2515 51513 |3
313131313134 2] 1818 e 1@ 18 ¢
PageFaultYN s ,
LY | fIYWJVLM y Y IVIYINIY Y IY [V IYTYIN ¥ V]
1. With the FIFO algorithm, l \a page faults will occur.
Page Frames
‘ T DT IUIVIt I MMl 1516 1915 13 131
’7)1( 1111_7—1113_--1«1118?82"?9
pls 4 1t 4 [4lGlelc|el@e[3 (32 [31h [2 (2 22
I3 R 55 15e My T,
Page Fault Y/N
Iy TYININTY IVINININTYINTYTIYTYTVINIVI Y]
2. With the LRU algorithm, 'f l page faults will occur.
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3. With the best possnble algorithm, a minimum of

| O

page faults will occur.

4. Other than having an automatic system to swap data to/from the disk and the ability to run program(s)
larger than physical memory, what is the other main advantage gained for a secure multiprocessing OS by

. having a virtual memory system?
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